Tz | @ %‘ vier Briiche, Reihenfolge der Operationen mit
&l 8\ i Klammern
Name: Datum: Ergebnis:
1 1 1 I 1 2
(= ——-)= — — )X —— — =
2 3(5 6) (2 2) 3 3
2 2 1 1
P2(=—=)+T= 18(=+=-)+3=
(53 ¢
I 1 2 3.2 1
20 —=-)+4= -t o)X == ==
(4 5) (5 5) 3 2
I 2 11 1
6(=+=-)+1= ——=(z—=2)=
(2 3) 3 4(2 2)
r 1. 2 1 1 3
)Xzt == S5+11+-)x ==
(2 4) 3 5 ( 4) 5
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Klammern

Name: Datum: Ergebnis:
1 11 1 2 1 1 )
2 35775 672737375

) 8 3 11 11
DE-27=2y= (=12 18(= + =)=3 = — =2—

(5 3) 7 (5) ( 5) 8(5 6) 3 5 5

11 1 302 1 1
20(= — =)+4 == S dyx o=
03 1 373%3737%

1 2 11 1 1
63+3) / 3733573073

1 1 111 1 3 63 _3
—— )X =+ == — =11+ -)x == — =3—
G375 3 (55 273730
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